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Part A: Grammar & Vocabulary
Directions: Questions 76-87 are incomplete sentences. Beneath eaclt senfence you will see four

words or phrases marked (13, (2), (3). und (4). Choose the one word or phrase that best

completes the sentence. Then mark your answer sheel.

T6-

77-

78-

79-

80-

81-

§2-

87-

Some of these species live mostly in the water, -—-------- live mostly in places as dry as the

desert.
1) there arc others

Do you really know how much
I} more money do vou need to raise

2y whereas others 3) where others

3) more money you necd 1o raise

I} has painted
3) had painted

4) but others thal

2) do you need to raise more money

4) you need more money Lo raisc

1 was surprised that he continued the work because he ———-- the cabinet twice already.
2) was going to paint

4y should have painted

1 believe that it is absolutely necessary for anyone expected to take part in the competitions
—_ as much preparation as possible,

|} getting 2y to get 3) they get 4} in which they get
Since I can’t ----—-—-- if I closed the front door, T have to go back and check the lock.

1) inform 2) evaluate 3) ignore 4) recall

Jefferson believes —————- — in the value of education and thus he makes sure that his kids
get the best school.

1y commonly 2) effectively 3) mentally 4) firmly

There was afan —-—-—--

murder took place.

-- of & human body drawn in chalk on the sidewalk where the

1) formation 2) outline 3) detail 4) base

It is wise not to pass a --—---—-- on things you know nothing about.

1) confidence 2Y resource 3) comment 4) certainty

Fven though my mother’s work hours are ———--——— , she is still expected (o work 3 days a
weel,

1) flexible 2) regular 3y specific 4) interchangeable
My son is very irresponsible; he didn’t even --—-----— 1o tell anyone where he was going,

and T am now worried (o deaih.

1) embarrass

2) bother

3y speculate

4) organize

There was no way to ——--—--—-- all students to bring money to cover the trip, so the school
decided to pay the fees.

1) sharc

The program is mainly designed to cducate people about the

smolding.
1) destructive

2) estimale

2) conscious

3) generalize

3y artificial

forum.konkur.in
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Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide

which choice (1), (2), (3), or {4) best fits each space. Then mark your answer sheet.

Un the other hand, there also seemns to be more crime, more poverty and more pollution
and olien these problems are [ound in a particular arca ol a town, (88) —---—-- them secem
even worse. But this is not so (89) -------—- , if vou think about it. The same problems
existin the countryside or in smaller towns, but they are not so (90) ---------- . Because of
this, they are noticed less. As long as the population of ¢ities does not grow more quickly
than {91) ---------- , cities can solve a lot of our problems. They stop the population {92} -
————————— arcas ol the countryside, In addition, they provide jobs and a morc interesting
life. The problem with cities is not how big they are, but how well managed they are.

1) they make 2) to make 3yhave made 4) making

1) active 2) national 3) personal 4) surprising

1) coneentrated 2} unimporlant 3) ceonomical 4) appropriate

1) for it available services are 2) the services available for it

3) ar¢ available the services for it 4) there the services available are for it
1) speeding up 2) comparing with  3) spreading into 4) distracting from

Part C: Reading Comprehension

Directions: In this part of the fest you will read two passages. Each passage is followed by four
gaestions. Answer the guestions by choosing the best choice (1), (2), (3), or (4). Then mark your
answer sheet.

94-

PASSAGE I:

Liforts to explain how the pteresaurs became able to fly have led te suggestions that they
launched themselves by jumping from cliffs, by dropping from trees, or even by rising
into light winds from the crests of waves. Each explanation has its difficulties.

The first wrongly assumes thal the plerosaurs’ hind feel were similar 1o thosc ol a bal
and could serve as hooks by which the animal could hang in preparation for flight. The
sceond explanation scems unlikely because large pterosaurs could not have landed in
trees without damaging their wings. The third calls for high waves to make flving
possible. The wind that made such waves, however, might have heen too strong for the
pterosaurs to control their tlight once airborne.

What qucstion is the passage mainly concerned with?

1) What was the lirst bird?

2) Did the pterosaurs ever exist?

3) What made the pterosaurs be able to f1v?

4) Why 1s our knowledge of the past so unclear?

The word “those™ in the passage refers (0 --—-m—--—-,

1) leet 2) dilTicultics 3) cxplanations 4) pterosaurs

forum.konkur.in
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95-

96-

97

98-

99-

11)-

Which of the following best deseribes the anthor’s attitude towards the three explanations
offered in the passage?

1) Excited 2) Ungertain 3) Conlused 4) Shocked

Which of the following stalements, il irue, would decrease the lorce of the reason brought
in against the second cxplanation?

1) The pterosaurs always landed on the ground.

2) The pilerosaurs were 1oo big 1o be able to land at all.

3) The pterosaurs laid egges in remote areas tar from dense forests.

4) The pterosaurs’ anatomy is not as much investigated as it has to.

PASSAGE 2:

Pcople who speak Swahili who want o communicate using a “compyuta”, which is the
Swahili word [or computer, arc unable 1o do so in their own language. IL makes no
difference that computers have huge hard drives and sophisticated software. ‘They cannot
operate in Swahili or other African languages, of which there are hundreds.

Soon, however, they may be able to. Linguists in Africa are working with information
technology specialists to make computers operable to Africans who do not know any of
the languages currently used on the Internet. Economics is bringing about this change.
Microsoft sees a market for its software among Swahili speakers in East Africa. Google
now has a search engine for speakers of Swahili in Kenya. Other software comnpanies
will probably scon develop products for African consumers. In addition to economics,
there 1s another reason tor making the computer accessible to Atricans. Hundreds of
Alrican languages are dving out, and linguists view the compuler as @ way 10 save Lhem,
According 1o UNESCO cstimates, 90 percent of the world’s 6,000 languages arc notl on
the [niernet, and onc language becomes extinet cvery day somewhere in the world, The
hope is that computers can help save them,

Which of the following is true about the Swahili people, according to the passage?

1) They Tack compuler skills 1o enable them (o use compulters,

2) They are not willing to make use of the computer in their life.

3) They speak a language they cannot communicate with through the computer.

4y They do not have the hard drive and the necessary software to make computer use a
reality.

The passage suggests that the number of langnages in which people cannot operate

through the computer is --——--—---,

1) increasing on a daily basis 2) more than one

3) limited to African countries only 4) yet to be determined

Ii ¢can be concluded [rom the passage that there are some Aflricans who --——--——-- .

1) speak languages that have no written format

2) are inventing languages that are sure to die out

3) have little trust in foreign companies’ real intentions

4y are not familiar with any language other than their mother (ongue

The author has mentioned UNESCO mainly in order to —————- .

1) support an carlier statement

2} show the number of languages on the [nternet

3) prove that it 18 the Alrican languages that arc most ignored

1) emphasizc that saving languages rom extinetion is a global duty
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Part A: Grammar
Directions: Questions 181-110 are inco. sentences. Beneath each sentence you will see

fmwrﬂsarphm:smnrkzd( (2), (3), and (4). Choose the one word or phrase that best
mpletes the sentence. Then m our answer sheet.

101- Clear out any junk or other matter from beneath your desk

lots of room for your
legs and feet to stretch ont.

1) by having 2) which therg has
3) so that you have 4) because of having
102- I:rocl';lwe in this apartment for two years and we Hke it, we really don't want any
uble.
1) had lived 2) were living 3) would have lived 4) have been livi
103- Einstein spent a year in the Apennine Mountaing of Italy, where he vigited relatives
and toured musenms to somehow relax.
1) hiking 2) hiked 3) to hike 4) to be hiking
104- In compaositiong and free writing exercises, the decision to use commas to indicate that a
clause is unnecessary d ds not only on the points mentioned above but also
and the information previously given.
1 the context 2) on the context
3) depending on the context 4) the context given

105- Controversy over books and films nsed in schools has caused school boards to consider

get Involved in selectlon procedures for such materials.

1; if should they 2) or that they should

3) that whether should they 4) whether they should

about possible damage to the atmosphere’s ozone layer, laws in many countries

now prohibit the use of fluoreocarbons as prose]limm in aerosol cans.

1) Concerned To be concerned

3 There is concern 4) Because of concern about

107- 1 started kee ing a journal when I was fourteen and have been writing in it almost every
Eﬁ:y 2) for 3) since 4) until

or people with synegthegia, ———, the number five may be red.

1) a condition in which the senses get mixed up_

2) being a condition the senses get mixed up in it

3) a condition which in that the sensestﬁet mixed up

4 that is a condition where mixed up the senses get

109- supports the uwotion that to clumge your mind is evidence of weakness and
unrellabﬂl y, — “Once I decide. I decide.
1) it leads many people who say 2) leading many P I[3113 to say
3) that leads many people are said 4) many people are led by sa

110- t research coucludes that haomans, like man ‘ilother species, have a in sense of
direction, weak it may have become from
1) too 2) such ) as much 4) no matter how

106-

108-

Part B: Vocabulary
Directions: Questions 111-125 are inco. sentences. Beneath each sentence you will see

four wrds or phrases marked (1), ﬂ, ) d (4). Choose the one word or phrase that best
s the sentence. Then mark choice on your answer sheet.

111- Ome of the firefighters was
himself,

112- 'I)reee which are more

by the smoke, and ended up having to be rescued

2) involved 3) overcome 4) embarrassed
can withstand sironger winds than those trees that are very

rigid.
1) flexible 2) common 3) superior 4) efficient
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113~ With all Cs on his report card, the teenager was not living up to his parents’
that he would make honor roll.
1) expectation 2 sgion 3) statement 4) concern
114- It’s usecless what son - would if he were in charge because he's not in
charge, and he never will be,
1) estimating 2) speculating 3) articulating 4) exemplifying
115- Even though the surface of our planet appears to be and stationary, there is

116-

117-

118-

119-

120-

121-

122-

123-

124-

125-

convincing evidence that the materials that form the solid rock on the surface of the earth

are moving.

1) global 2) entire 3) firm 4) giant

The famous artist once observed that in life you must absorb what s useful, reject what is

l;;elﬁ!, and add what is / OWIL. 3 i 2 ol
Eroudl carefully specific interchangeably

It tlzn all Puor people have an inferlor education; however, such an

argument cannot be supported by the facts. .

1) 1gnore 5 3) design 4) generalize

Foor such as standing with vour shoulders and head bent when talking to an

autherity gives the ression that youn aren’t List:

1) posture ) certainty 3) pretention 4) nervousness

Frank geemg to think that my position is to his, but it’s not, and I’m getting tired
of him trying to tell me what to do.

Ds inate 2) accessible 3) former 4) useless

Onur elevator pot In the shaft between floors, so we had to wait for over 40 minutes
for someone to get us nnt. .

1) hung 2) stuck 3) prevented 4) lifted

Remember how p It can be to A sgr.ky adhesive bandage?

1) operate 2) stretch 3) damage 4) remove

Rusty Berkus once sald that there comes that mysterions meeting in Hfe when someone

acknowledges who we are, and what we can be, igniting the circuits of onr highest

1) degree 2) message 3) occasion 4)

Although numbers of animals in a given region may fluctuate from year to year, the
fluctuations are often temporary and, over long perlods, ————.

1) dense 2) extinct 3) negligible 4) developmental

Alr pollution from motor vehicles imposes external costs on all those to it, in the

form of low productivity, materials damage, and disease.
s) “::Eo 2) attributed 3) transferred 4) accustomed
levels below about 40 decibels are not very useful in music because to be useful, such
sound levely ———— that background neise, such ay andience movement or ventilating
be even lower—and that often ik not the cake.
1) require 2) recognize 3) guarantee 4) demonstrate

Part C: Sentence Structure
Directlons: Choose the sentence with the best word order for eack of the following series. Then
mark the correct choice on your answer sheet.

126-

127-

1) The a]a.rming number of Mediterrancan monk scals, an endangered species, have died
2) An a]arm:.;f number of Mediterranean monk seals, an endangered species, have
3) Medlterranea:n monk seals of alarming numbers have died like an endangered species

4) An enéngered species, which is an alarming number of Mediterranean monk seals,
and have recently died.

1) Only is Earth one of the inner planets with a large satellite, the orbit of that in the
equatorial planc of Earth is.

2) Earth is the only one of the inner planets with a large satellite, whose orbit to be in the
equatorial plane of Earth.

3) Earth is the only one of the inner planets with a large satellite, the otbit of which is not
in the ri fplane of Earth.

4) The only one of the inner af:lanets with a large satellite is Earth, the orbit of whose
sate]hte not in the equatorial plane of Earth.
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128-

129-

130-

1) The African tsetse fly does not nced a brain, for everything it has to do in life is
programmed into its nervous system,

2) The African tsetse fly does not need a brain, therefore everything in life it has to do
programmed into its nervous system.

3) The African tsetse fly does not need the brain, everything it has to do in life is
pro into its nervous system.

4) The African tsetse fly does not need its brain, because into its nervous sysiem

everything it has to do in life it is programmed.

1) When constructing houses of stone, the architect’s research shows that builders still
use the hammer more than any other tool.

2) The architect’s research shows that even when builders construct houses of stone, they
giill use the hammer more than any other tool.

3) The architect’s research, when builders construct houses of stone, shows that, even
then they still use the hammer more than any other tool.

4) The research by the architect shows that when even builders construct houses of stone,
the hammer is still used for more than any other tool.

1) Much of this author’s work, unfortunately, iz uneven, with a chapter poorly written
often mmematetlg follows a sublime one.,

2) Much of this author’s work is uneven unfortunately, with a poor written chapter often
immediately to follow a sublime one.

3) Much of this author’s work, unfortunately, is uneven, with a poorly written chapter
often immediately following a sublime one.

4) Much of the work by this author is unfortunately uneven, and a chapter is poorly
written often immediately follows a sublime one.

Part D: Language Functions
Directions: Read the following conversations between two people and choose the answer choice

(1), (2), (3), or (4) that best completes the blank in the conversations. Then mark the correct

131-

132-

133-

134-
135-
136-

A: See you later, Mom!

B: Where are you going, Ted?

A: I told Henry I'd drop by.

B: What are you two going to do?

A: Maybe go to the movies or play tennis. Qur plans are still (131)
B: Why don’t you invite him over here?

A: 1 don’t want to hang around here. Dad is really (132) in the dumps.
1 a breeze 2 up in the air

all or nothing 4) middle-of-the-road
1 off 2) over 3) down 4) through

A: Would you Hke to join me on the mountain-climbing expedition?
B: (133) ! I like anything but mountain climbing.

1; For that matter 2; Fair enough

3) I can’t agree with your more 4) Not on your life

A: Hey, John. I’'m bored. Come on, let’s go out and do something.
B: Sorry, I’m right (134) studying for a physics exam. I won't be able to make it
tonight.

A: You’ve been studying for a long time. Why don’t you (135)
go! Forget studying for a while!

B: Look! (136) —1 I can’t go anywhere!

A: OK. I’ll stop bothering you only if you promise to let me know the minute you’re
finished

7 Come on! Let’s

1) halfwa 2; all along 3) over my head 4; in the middle of

1) take a 2) play it by ear 3) tie your hands 4} hold your head up
1) Get off my back 2) Worm out of it

3) Stick to your guns 4) Leave me high and dry
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A: According to the weather forecast, it’s going to be a fine day for our picnic tomorrow.
B: (137) ! The weather forecasters often get things wrong.
137- 1) On no account 2) Don’t bank on it
3) Don’t beat around the bush 4) There’s really nothing to it
A: I feel sorry for Richard. He was feeling quite depressed when I (138) ———— him.
B: Did he tell you what was bothering him?
A: Among other things, he informed me that he got the (139) at work.
B: That’s {(140) . He’s always been a conscientious worker. I wonder why they

dixmisged him from his job?
A: Evidently he had a disagreement on company policies with one of the top executives.
138- 1) ran into 2) lost sight of
3) saw eye to eye with 4) looked askance at
139- 1) ax 2) check 3) ghost 4) buck
140- 1) sure 2) strange 3) possible 4) out of sorts

For the next ten vears, various aspects of society could be going through enormous
as Virtual Reality (VR) technology moves towards fully operamtfonal and interactive {141) -

------ — of its potential. {142} —------- as an integral part of our lives, and how quickly it
is likely to move from niche technology (143) ---------- common usage throu t society,
is currently under discussion. However, (144) ------ — that VR may well have become
sufficiently developed for it to form an essential part of life by 2030 (if not sooner). Over
40 tm]hon people (145) —-——-- own VR headsets, and this figure (146) -----—- — to
double over the next three years. By 2025, we may well have reached the point (147) --—--
—— almost 200 million users own VR viewing
(148) ——---, the Head Mounted Display (IIMD), (149) --——---- — as a VR headset.

The ultimate aim of these headsets is to generate a 360-degree, 3D virtual world,
enabling the viewer to (150) —--—--- what they are watching without the physical limits
of a TV, computer or cmema screen. There are two LCD lays, (151) -—--- —, which
display 1 lma s bemg sent by the computer or (152) --—--—- via an HDMI cable) or on
the screen o (y 153) —---—-- the front of the headset.

Lenses, set mmde the HMD (154) -—-—-—-- the user’s eyes and the LCD displays,
(155) ————-—-- — to counteract the natural differences between what one human eye and
the other simultaneously see.

141- 1) attention 2) forecast 3) relationship 4) implementation
142- 1) To what extent VR establishes itself
2) What extent does VR establish itself to
3) To what extent itself does VR establish
4 What does the extent to VR establishes itself
143 1 2) for Si in 4) by
144- 1 the inion of man: erts’ is 2) many experts’ apinion
3 manojlrjexpm'ts arc 0}’&? opinion 4) the 0};)m10n of ;P;ny experts
145- 1) previously 2) currently 3) immediately 4) occasionally
146- 1) expected 2) expecting 3) is expected 4) that is expected
147- 1) of 2) for 3) of that 4) at which
148- 1) record 2) desire 3) density 4) device
149- 1) more commonly known 2) is known more commonly
3) which it is more commonly known 4) that is commonly known more
150- 1) distinguish 2) admt 3) verify 4) enjoy
151- 1) which is one for each eye 2) one of those for each eye
3) cne for each eye 4) one is for each eye
152- 1) such as some devices 2) some of such devices
3) some such a device 4) some such device

153 1) depended on 2) detached from 3) inserted into 4) generated by

154- 1) of 2) between 3) from 4) outside
155- 1) to be necessary 2) necessary
3) they are necessary 4) are necessary
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Part F: Reading Comprehension
Directions: In this part of the test you will read three passages. Each passage is followed by five

questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your
answer sheet.

156-

157-

158-

159-

160-

P. E 12

For their size, birds are tremendously powerful creatures. We know this thanks to an
ingenious series of tests performed by some prominent researchers. The researchers
placed a specially trained budgerigar in a wind tunnel and measured how much muscle
power it needed to maintain flight at various airspeeds up to 50 kilometers per hour.

The small bird had to be trained, not only because it had to fly in the artificial
environment of the wind tfunnel but also because it had to do so while wearing a finy
oxygen mask.

The mask allowed zoologist Vance Tucker and his celleagues to monitor the
budgerigar’s oxygen demand, and thus the amount of mechanical cnergy it was
producing. What they discovered was experimental proof of the incredible power-to-
weight ratic of birds. Tucker’s team found that the 35-gram budgerigar’s flight muscles
were delivering a peak power of one to four watts to maintain continuous flight. That
might not sound very much on its own, but it’s pretty impressive when the bird’s size is
taken into account: it works out as 200 watts of continuous mechanical power for every
kilogram of the bird’s muscle mass, And that’s the reason that people have always failed
when they tried to fly by flapping wings attached to their arms: the average human can
only produce around ten watts per kilogram of their muscle mass, It’s not that we never
had the time to fly; we have simply never had the energy. To fly, people need machines
and to make a flying machine, we need to understand how birds control their flight,

‘Which of the following is stated about budgerigars in the passage?

1) They were the first birds used for experiments done on birds.

2) They are the most ingenious among almost all bird species.

3) For their size, they are impressively powerful creatures.

4) For training purposes, they are the most suitable birds.

According to the passage, the bird the researchers used in their tests was

1) trained

2) known for flying fast

3) raised in artificial environments

4) required an oxygen mask to survive in adverse conditions

‘Which of the following best describes the organization of the passage?

1) A problem is presented and a solution to get rid of it is offered.

2) A suggestion is made and then backed up by means of an example.

3) A mystery is described and the reasons why it is a mystery are explained.

4) A claim is made and then validated based on the findings of some researeh.

The word “it” in paragraph 2 refers to .

1) maintaining continucus flight

2) peak power of one to four watts

3) mass of budgerigar’s flight muscles

4) proof of the power-to-weight ratio of muscles

‘Which of the following inferences CAN be made from the passage about human beings?

1) They know why birds are actually able to fly by flapping their wings.

2) They have studied birds to be able to learn how to fly since time immemorial.

3)The energy they can produce by flapping wings attached to their arms is anything but
inadequate to enable them to fly.

4)If they had known about the power-to-weight ratio of birds, they could have invented
airplanes much earlier than they actually did.
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161-

162-

163~

164-

PASSAGE 2:

Critics of TV have focused on bad language and mindless violence, and they have made
these seem very significant and threatening to the social fabric. They are right to some
extent only because these people have looked at the content of certain TV programs and
blown it out of all proportion. The truth is that the content is relatively insignificant—
that is not where the real impact of TV lies. Paradoxically, perhaps, it is in the
insignificance of the content of TV programs that the significance of TV lies.

There is a relentless flow of things on TV: there is a story about a drought in Aftrica
with 1,000,000 on the verge of starvation, immediately followed by adverts for Italian
spaghetti and the latest toothpaste, then it is back to the football highlights before your
favorite soap opera starts, and you are just getting involved in all the intrigues when the
adverts come on again and you decide to change channels to watch the movie. What
remains from all of this as something that could have a lasting impact or that could
prompt some deeper interest? Nothing. Absolutely nothing.

Admittedly there are times when TV does manage to generate a response. Particularly
disturbing images of emaciated children dying of hunger, flies crawling over their lips,
can prompt people to make a donation. But the channel can’t keep showing the same
pictures for long, Soon there will be another disaster somewhere ¢lse and we will forget
the starving children and we won’t stop to think much about the causes of the disaster
and what ought to be done in the future. After all, there is another movie later on and we
don’t want to miss it. Without anyone intending this, TV silently conveys the message
that nothing really matters in the world. Channels choose footage, stories and their
variety of shows to increase their ratings. Viewers hop from channel to channel to
maximize their pleasure. A perfect marriage of commerce and hedonism.

TV effectively trains people to leave the world exactly ag it is. We have the brute
facts (or some of them at least) about poverty, disasters and disease, but we have so little
analysis, and we are left with the impression that that is just the way things are and that
they couldn’t be otherwise. Before we have time to think much or imagine how things
might be different the match has started, it is our team and we have found something
much more exciting to fill up our free time,

‘Which of the following best describes the authors attitude towards critics of TV?

1) Humiliation 2) Uncertainty

3) Partial approval 4) Complete opposition

‘What does the author mean by “nothing™ at the end of parapraph 2?

1) Shortage of serious content

2) Lack of interesting programs

3) No content able to engender decp and lasting interest

4) Absence of viewers deeply interested in TV programs

The passage suggests that the reason why TV viewers tend to forget the starving children

is that

1) such scenes are horrible to think about all the time

2) they know they cannot change anything drastically

3) TV programs follow cach other such that TV viewers find it hard to find time to
deeply think about what they are exposed to

4) there are someg influential media managers who use TV as a means to make TV
viewers think TV is only an impartial conveyor of the real world

The word “this” in paragraph 3 refers to ———,

1) causes of the disaster

2) not wanting to miss a movie

3) marriage of commerce and hedonism

4) the message that nothing really matters in the world
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165-

166-

167-

‘Which of the following does the writer state is TRUE about TV programs?
li They al}%n? lelz:]w;iebeven any teci:n ora effects on the aclllgjyence. anal
2) Some o cO e improved i y are accompanie true ysis.
3 I\.liast of them tend to appeal to people’ brute instincts rather than their inclination for
easure.
4) somehow exaggerate scenes of human suffering to touch people’s feeling
disproportionately.

PASSAGE 3:

A sense of humor has long been considered an important character trait. People regularl
rank humor as one of the most important traits that look for when choosing a frien
a roommate, an e?loyee, or a potential spouse. Public speakers are told to begin their
speeches with a joke, and sales personnel are told that they will have more success if
can get their clients laughing before they begin their sales pitch. There is medical
rescarch to indicate that can reduce stress and even extend life. Clearly, humor
is important, but few people spend much time thinking about the topic of humor. There
are, however, a couple of 1mportant facts that everyone should know about humor.

One is that humor i8 learned, not inherited. Infants have no sense of humor, but
quickly learn what is funny from their parents and later from friends and from books,
television, magazines, and movies. It is, therefore, possible to sharpen your sense of
humor, no matter what your age. Another important fact to remember is that humor is
highly subjective, What is funny changes from era to era, from country to country, and
from group to group. A joke book from the nineteenth century may contain a few ﬁmny
jokes, but it also contains jokes that lcavc us scratching our heads and wondering “Why
was that funny?” Similarly, if you go to a comedy act when you visit another country,
you probably won't laugh as hard or as often as the other people in the audience, even if
you understand the language &egfectly. This may be in part because you don’t understand

j gbout a politician that you have never heard of will
probably not be very funny—but it is also because there are some basic differences in
what people in various countries think is humorous.

Studies have also shown that men and women find different things funny, and so do
people of different age groups. All of this indicates that have to pay attention to your

ence when you employ humor. What you find hilarious, someone clse may find
baffling or even offensive.

The passage mentions medical research in paragraph 1 in order to —.

1) further support the importance of humor

2) moderate the main point already made in the same paragraph

3) express surprise at some people’s failure to appreciate humor

4) name a benefit of humor with which peoplc are expected to be more familiar
The passage states that people’s sense of humor .

1) is innate 2) iz acquired

3) is hard to teach to those who lack it 4) declines with age

168- Which of the following is part of the argument in the passage to prove that humor is highly

'suli]ecﬂve?
1) It depends on the topic of conversation.

% %t varies from era to era.

tis age-md@dent.

4) It is hard to define.
169- lti]passage refers to “a politician™ in ph 2 primarily in order to ———.

1) illustrate the impact of politics on the meaning of humor

2) claim that pelitical issues are not funny in some countries

3) give an example of the effect of cultural differences on people’s reaction to humor
170, 4) provide support for the general rule that humor is affected by people’s political stance

There is sufficient information in the passage to answer which of the fnllowin‘? questions?

1; Why is humor generally regarded as the most important trait to possess

2 “;‘hy are r¥ou ised to consider your audience to be able to make more effective use
of humo

S)Wl?latprol:ll:]pstdh%medical researchers to conduct studies to probe the effects of langhter

On ImAan ne

4) What makes business people who begin their sales pitch with humor more successful
than those who do not?
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101-

102-

103-

104-

105-

106-

107-

108-

109-

110-

111-

112-

113-

114-

115-

Teil A; Grammatik

Mecine Enkelin Sara wird heute in ciner Woche ——--—-- Monat alt.

1) eine 2) einer 3) einen 4) einem

-------- neue Firmen zu bauen, ist es besser, alte zu modernisieren. So fallen weniger
Kaosten an.

1y Um 2) Ohne 3) Damit 4) Statt

Fiir ==am—e—- Informationen stehe ich Thnen gerne zur Verfligung.

1) weilere 2) weileren 3) weileres 4) weilerem
Der Vater hat sich sehr ---—--—-- gedrgert, dass der Schaffner unhdéflich xu uns war.
1) dazu 2) davon 3) darauf 4) dariiber

In welchem Tempus steht der Satz ,,Die Begegnung mit der orientalischen Kultur
veriinderte ihn “?

1) Fumur [ 2) Perfekt 3) Prdsens 4) Priteritum

Kinder, ———- Eltern aus asiatischen Lindern kommen, sind in unserer Schule
Klassenbeste.

1) deren 2) dessen 3) denen 4) der

-------- (Plural von ,,Ausflug®) nach Diinemark sind bis zum 1{. Mai nicht moglich.

1) Ausfluge 2) Ausflige 3) Ausflugen 4) Ausfligen

Er trat ins Biiro des Rektors ein, ——-- anzuklopfen. Das hat dem Rektor nicht gefallen.

1) um 2) statt 3) ohne 4) damit

In welchem Kasus steht die Pripoesition im Satz ,Der Wunsch aller Menschen nach
Frieden ist verstindlich®?

1) Dativ 2) Genitiv 3) Akkusativ 4) Nominativ
Er steckte das Geld, das ich ihm gegeben hatte, in -——-- Tasche.
1) der 2y den 3) die 4) das

Welche Bedeutung hat das Modalverb im Satz ,,Auf diesem Platz diirfen nur Kinder
spielen®?

1) Absicht 2y Fahigkeit 3) Erlaubnis 4) Méglichkeit

Bei welchem handelt es sich um den Komparativ des Adjektivs ,,dumm*?

1) dummer 2y dimmer 3) diimmest 4) dummerer

Er musste den Artikel zu Ende schreiben, ---—-——- er dazu Keine Lust hatte.

1) ob 2} als ob 3) damit 4) obwohl

Ieh —————-- ihm fiir seine Hilfe bei den technischen Fragen herzlich --——--- -

1) bin / gedankt 2} habe / gedankt 3) habe / gedanken  4) bin / gedanken
100 Meter entfernt beginnt eine Sicherheitszone, Dy -———--—-- hier keine Fotos machen!
1) dartst 2y willst 3) kannst 4} musst
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Tcil B: Vokabeln
116- Immer wenn er eine Wohnung suchen muss, schaut er die -—-----——- in der Zeitung an.
1) Artikel 2y Anzeigen 3) Nachrichten 4) Gespriche
117- Er musste sich fiir ----——- Verhalten seines Sohnes beim Nachbarn entschuldigen.
1) respektvolles 2) grofles 3) schlechtes 4) nettes
118- Es macht dir wohl Spab, die anderen auf den ——--——-—- 7u nehmen!
1) Arm 2YFuB 3) Finger 4) Kopl
119- Die Biirger, die viel Steuern bezahlen miissen, kinnen sich beim -—-—---- beschweren.
1) Postamt 2) Jugendamt 3) Standesamt 4) Finanzamt
120- Warum sind Sie ————-- geworden? — Weil ich die Landwirtschaft liebe,
1) Baucr 2) Plarrer 3) Schusicr 43 Schncider
121- Ein cleverer Rentner aus Hamburg hat Trickdiebe aufs Kreuz -————- .
1) gelegt 2) geselzl 3) gestellt 4) genommen
122- Sie miissen einen neuen Pass beantragen. Thr Pass ist nur zwei Wochen --———- -
1)alt 2) lang 3) giiltig 4) halthar
123- Nachdem er im ,,Wer wird Millioniir?* gewonnen hatte, konnte er ¢inige Zeit auf groBem
Fuf} —---—-—--- .
1) laufen 2) spielen 3) stehen 4) leben
124- Dein Frennd mag es nicht, wenn du sein Handy benutzt. Warnm willst ihn schon wieder
darum ———-- .
1) bewundern 2) beneiden 3) bitten 4) bringen
125- Er hat sich damic abgefunden, dass er nicht mehr mit den jingeren Sportlern --—---—-——-
halten kann.
1) Marsch 2) Schritt 3) Bein 4y Lauf
126- Dic Verkiinferin beobachtete, wic der Junge cine Uhr -—-——- . Er wollte aber den
Diebstahl nicht zugeben.
1) kaufte 2) reparierte 3) verwendcete 4) entwendete
127- Du sollst einen ———-—- — mitnehmen. Ich glaube, es liegt ein Gewitter in der Luft.
1) Weeker 2y Schirm 3) Beutel 4) Kofter
128- Wie lange willst du noch den Kopf in den —-—--- stecken? Was du tust, ist definitiv
illegral!
1) Grab 2) Stein 3) Sand 43 Wind
129- Als die Familie ihr Haus gebaut hatte, hatten alle wie --—-—--- gearheitet.
1) Fuchse 23y Hunde 3) Ziegen 4) Pferde
130- Ich muss ihm dic -—-—— iffnen. Er weill nicht, dass scin Geschattspartner ithn hintergcht.
1) Augen 2) Hande 3) Ohren 4y Arme
Teil C: Satzbildung
Welcher Satz ist korrekt?
131- er/ das ganze Zimmer / durchsuchen / nach dem Schliissel
1) Das ganze Zimmer er hat nach dem Schliissel durchsucht.
2) Er hat das ganzc Zimmer nach dem Schlissel durchsucht.
3) Er das ganze Zimmer hat nach dem Schliissel durchgesucht.
4) Nach dem Schliissel er hat das ganze Zimmer durchgesucht.
132- nach so vielen Jahren / sich erinnetrn kinnen / kaum mehr / ich/ an seinen Namen

1)y Nach so vielen Jahren ich kann mir kaum mehr an seinen Namen erinnern.

2) An scinen Namen kann crinnern ich mir nach so viclen Jahren kaum mehr.

3) Ich kann mich nach so vielen Jahren kaum mehr an seinen Namen erinnern.

4) Nach s¢ viclen Jahren kann ich mich kaum mehr an sginen Namen zu crinngrn.
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141-
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144-
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148-
149-
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genug Geld haben / cine schiiue Reise machen kinnen /- die Familic / um

1) Genng Geld hat die Familie, um eine schone Reise machen kénnen.

2) Di¢ Familic hat um cine schdne Reise machen kénnen, genug Geld.

3) Die Familie genug Geld hat, um eine schéne Reise machen zu kénnen.
4) Dic Familic hat genug Geld, um cinc schiine Reise machen zu kénnen.
zuriickgehen / der Umsatz des Unternehmens / stark / im letzten Jahr

1) Im letzten Jahr ist der Umsatz des Unternehmens zuriickgegangen stark.
2) Der Umsatz des Unternehmens ist im letzten Jahr stark zuriickgegangen.
3) Im letzten Jahr stark ist der Umsatz des Unternehmens zurlickgegangen.
4) Der Umsatz des Unternehmens stark ist im letzten Jahr zuriickgegangen.
iiherlassen / threm Mann / Brigitte / die Betreuung des Unternehmens

1) Brigitte hat dic Betreuung des Unlernchmens ihrem Mann (iberlasscn.

2) Brigitte hat iiberlassen die Betreuung des Unternehmens ihrem Mann.

3) Brigitte hat ihrem Mann dic Betreuung des Unternchmens {ibergelassen.,
4) Die Betreuung des Unternechmens hat Brigitte ihrem Mann iibergelassen.

Teil D: Liickentext
Erginzen Sie den Text mit den richtigen Auswahlmiglichkeiten!

Es war im Winter. Der Wolf hatte schon lange nichts mehr gegessen und lief

(136) —--— durch den Wald. Da sah er den Fuchs vor seinem Haus sitzen, der
(137) ——=memmm-- Fisch aB. Als der Fuchs den Wolf kommen sah, zog er sich in seinen
(138} —-—--- zuriick, Der Wolf, der gesehen hatte, wie (139) ———--—— der Fuchsg seine
Mahlzeit genoss, konnte den Hunger nicht mehr (140) ----——---- : ,.Lieber Fuchs, zeige mir
bitte, wic man Fische (Hngl™. Der Woll musste (141) ----——----- , dass er alles machen wird,
was der Fuchs verlangt. Nun kam der Fuchs aus seinem (142) ---------- heraus, und sie
gingen gemeinsam {143} -——---—--- emem See, der eine dicke Eisdecke trug. In der Mitte
hatten die Fischer ein Loch {144) ---—-----, Der Fuchs sagte dem Wolf: ,,Hinge (145) ----
----—- Schwanz hier in das Loch. Dann werden sich viele Fische daran fangen. Aber du
musst still (146) —--—-—, bis vicle daran sind®, Der Wolf tat so, wic (147) —--—-- der
Fuchs lehrte. Es war aber eine kalte Mondnacht. Das Loch im (148) ----—--—-- fror bald
zu. Nach einiger Zeil [ragte der Fuchs: ,,Nun, hast du schon einige?* Der Woll zog den
Schwanz ein wenig an. ,,Ja, ich (149} ———--m--- schon etwas®. .Sel nur still, mein Lieber,
(1503 ~mmmmemmmm sie nicht fortschwimmen*, sprach der Fuchs.

1) satt 2y stolz 3) heiter 4y hungrig

1) cin grofics 2) cing grolic 3) cin grofier 4) cinen grofien

1) Ban 2y Kifig 3) Teich 4y Wagen

1) fern 2) oben 3) sehr 4} grol}

1) stillen 2} ertragen 3) erfinden 4) verlieren

1) aufhdren 2} schweigen 3) versprechen 4) herausfinden

1) Loch 23 Bett 3) Sack 4) Zelt

1) an 2y zu 3) bei 4y mit

1) gemalt 2} gohalicn 3) geschlagen 4) geschlossen

1) dein 2) deine 3) deines 4) deinen

1) halten 2) lernen 3) fahren 4y nehmen

1) sie 2y ithn 3) ihr 4) thm

1) Eis 2y Zaun 3) Dach 4) Fass

1) lese 2) koche 3) fiihle 4) suche

1) ob 2y wie 3) wenn 4) dass
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Teil E: Leseverstehen

Text 1:
Albert Schweitzer war cin deutsch-franzdsischer Arzt, der heute als | Urwald-Arzt™
bekannt ist. Er wurde im Jahr 1875 im Elsass im heutigen Frankreich geboren. Scin Vater
war evangelischer Pfarrer. Er starb im Jahr 1965 im afrikanischen Staat Gabun. Albert
Schweitzer setzte sich in seinem Leben fiir verfolgte und bedrohte Menschen ein.
Aullerdem kiimpfte ¢r dafir, dass ¢y auf der Welt weniger Waften gibt, fiir Fricden und
fiir Freiheit. Fiir seine Arbeit erhielt er im Jahr 1954 den Friedensnobelpreis. Schweitzer
studierte Theologie und Philosophie in Straburg. Er wurde Pfarrer, spiter Professor flir
Theologie. Nebenbei beschiftigte er sich mit Orgelmusik und dem Orgelbau. Er gab viele
Konzerte und schrieb Biicher iiber dic Musik von Johann Scbastian Bach. Scin grofier
Traum war es jedoch Medizin zu studieren. Er wollie als Missionsarzl in Afrika tdlig
werden. So gab er Tiberraschend seine Arbeit an der Universitit auf und studierte Medizin.
Zusammen mit seiner Frau baute er in dem kleinen Dorft in Gabun ein Urwald-
Krankenhaus auf. Ab und zu reiste or nach Curopa, um mit Konzert- und Voertragsreisen
Greld und Medikamente fiir scin Krankenhaus zu sammeln.

Welche der folgenden Auszeichnungen hat Schweitzer laut Text gewonnen?

1) Beethoven-Preis 2) Robert-Koch-Preis

3) Nobelpreis fiir Frieden 4y Deutscher Kritikerpreis

Welche Aussage iiber die Titigkeit von Schweitzer an der Universitit trifft zu? Schweitzer
1y wurde aus der Uni entlassen 2) arbeitete bis zur Rente an der Uni

3) horte auf, an der Uni zu arbeiten 4) war niemals an einer Universitiit titig
Aus dem Text geht hervor, dass sich Schweitzer auch fiir —--—- — Interessiert hatte.
1) Politik 2) Musik 3) Sprachen 4) Archiologie

In welchem afrikanischeu Land war Schweitzer ansiissig?

1) Mali 2% Guinea 3) Kongo. 4) Gabun
Schweilzer Ninanzierle laul Tex( sein Krankenhaus u. a. durch -——-—--- .

1) die Spenden der Regierung 2y den Verkauf von Grundstiicken

3) dic Vortrige, dic cr in Buropa hiclt 4y Gelder, die or von der Kirche bekam
Was war der Vater von Albert Schweitzer von Beruf?

1) Geistlicher 2y Landwirt 3) Bibliothekar 4y Musiklehrer
Welches Fach u. a. studierte Schweitzer in Strallburg?

1) Jura 2) Theologie 3) Geschichte 4) Soziologie
Text 2:

Portugiesisch ist eine romanische Sprache. Damit 1st sie verwandt mit Sprachen wie Latein
oder Spanisch. Uber 215 Millionen Menschen auf der Welt sprechen Portugiesisch. Nur vier
andere Sprachen werden von mehr Menschen als Muttersprache gosprochen, Dic meisten
Menschen, die Portugiesisch sprechen, leben in Brasilien. Dieses riesige Land in
Siidamerika war einmal eine Kolonie von Portugal.

Wiihrend in Brasilien fast 200 Millionen Menschen leben, sind es in Portugal nur etwa
10 Millionen, Auflerdem ist Portugicsisch Amtssprache oder cine weitere wichtige
Sprache in einigen Lindern Afrikas. Auch dort haben [rither Portugiesen geherrschi. Das
Portugiesische in Afrika ist dem in Portugal recht Ahmlich. Das brasilianische
Portugiesisch ist oft anders. Das liegt daran, dass Brasilien ziemlich friih unabhingig
wurde und zeigen wollte, dass es cin cigenes Land it cigener Sprache ist.

Es wird anders ausgesprochen und hat einige andere Wirter als Portugiesisch in
Europa. Im 18. Jahrhundert verinderte sich das Portugiesisch in Europa stark, wihrend
das brasilianische Portugiesisch =ziemlich gleich blieb. Trotzdem schreibt man
Partugicsisch in der ganzen Welt auf dicsclbe Weise.
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160-

161-
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163-

164-

165-

166-

167-

168-

169-

170-

In welehem Land wird mehr portugiesisch gesprochen als in anderen Teilen der Welt?

1) Mosambik 2) Brasilien 3) Portugal 4) Spanien

Wie kam die portugiesische Sprache nach Brasilien? Durch die -—-—----

1) brasilianischen Seeleute

2) politischen Vereinbarungen

3) wirtschaftlichen Bezichungen

4) Besetzung des Landes durch Portugiesen

Worin u. a. unterscheidet sich laut Text das brasilianische Portugiesisch vom europiischen?
In der —-—— —_

1) Schreibung 2) Grammatik 3) Aussprache 4) Schriftsprache
Die portugiesische Sprache ist laut Text die ---—--—--- Muttersprache der Welt.

1) finft grofte 2) meist gesprochene

3) am wenigsten gesprochene 4y am cinfachsten zu lermende

Mit welcher der folgenden Sprachen ist das Portugiesische verwandi?

1) Schwedisch 2) Russisch 3) Spanisch 4y Deutsch

Zu wcelcher Zeit gab cs cine starke Umwandlung der portugicsischen Sprache in Europa?
1) Im Mittelalter 2) In der Antike

3) Nach dem Zweiten Weltkrieg 4y Im achtzehnten Jahrhundert

Aus dem Text geht hervor, dass die Schreibung des Portugiesischen —-------

1) teilweise recht schwicrg ist 2) iiberall auf der Welt gleich ist

3) keinen einheitlichen Regeln folgt 4} sich mit der Zeit nicht geiindert hat
Text 3:

Auf der skandinavischen Tlalbinsel licgen vor allem Norwegen und Schweden, Das
skandinavische Gebirge bildet die Grenze zwischen beiden Lindern. Die nordliche
Spitze von Norwegen, ist auch der nérdlichste Punkt des europdischen Festlandes.

Meistens denkt man bei Skandinavien aber noch an weitere Lander, vor allem
Diénemark und Island. Tn all dicsen Landern werden dhnliche Sprachen gesprochen, dic
skandinavischen Sprachen, Man nennt sic auch dic nordgermanischen Sprachen, dic mit
dem Deutschen verwandt sind. In diesen Landern waren vor mehr als 1000 Jahren die
Wikinger zu Hause. Viele zihlen zu Skandinavien aber auch Finnland. Es liegt teilweise
sogar auf der skandinavischen Halbinsel. Allerdings sprechen die meisten Einwohner
Finnisch, eine ganz andere Sprache. Die Skandinavier selbst nennen ihre ,nordischen
Linder” gemeinsam gerne ,den Norden®. Trotzdem gibt es wichtige Unterschiede
7zwischen den Landern, Zum Beispiel sind von ihnen nur Dénemark, Schweden und
Finnland Mitglieder der Europiischen Union. Mit dem Eure zahlen nur die Finnen, die
iibrigen Lénder nennen ihre Wahmng Krone. Déinemark, Schweden und Norwegen
haben Kénige, die anderen Lander sind Republiken.

Welche Staatsform hat das Land Norwegen?

1) Republik 2) Fiirstentum 3) Konigreich 4) Volksrepublik
Die Lander Norwegen und Schweden sind durch --—-—- — voneinander getrennt.

1) Gebirge 2) Wilder 3) Mauemn 4) Fliisse

Wie nennt man die Vorfahren der heutigen Skandinavier?

1)y Wikinger 2} Nomaden 3) Indianer 4) Azteken
Welche Sprache gehért nicht zu der Gruppe der skandinavischen Sprachen?

1) Dénisch 2) Finnisch 3) Islandisch 43 Norwegisch
Uber welches Thema findet sich im Text kein Hinweis? Uber die =——-=-a=

1) Landeswihrungen in Skandinavien 2)LU- M!tglmdschaﬂ der Ska,ndmavmr
3) Handelsbezichungen der Danen 4y Landessprache in Finnland

Welches der folgenden Liinder ist nicht ein Mitglied der Europdischen Union?

1y Déancmark 2) Schweden 3) Finnland 4) Norwegen
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Partie A: Structure
Complétez les phrases suivantes en cochant la réponse correcte:

101- 1l y a les clés —--——-——- voiture sur la table.
1)la 2)de 3)une A4ydela
102- A Paris, les immeubles (raditionnels --—--——- sont tous rénovés,
1) parisien 2) parisiens 3) parisienne 4) parisiennes
103- Sur -————- note d'hatel,le prix est 100 euros.
1) ce 2)cet 3) cette 4) ces
104- Sonm jardin est fleuri; ----——- ne I'est pas encore.
1) le mien 2) la mienne 3y les miens 4) les miennes
103- Hier, le garagiste --—-—-- la pression de mes pueus,
1) vérifie 2) verifiera 3) a verifie 4) vérifiait
106= Le monnment ==se=s-=--- vous parlez n’cst pas class¢ par le ministére.
1) ou 2) que 3y qui 4) dont
107- 11 cst prétérable que ta soenr ———- ce qu'clle vent comme cadean.
1) dit 2y dise 3)adit 4) disait
108- Quand Mar¢ —————— son dipléme de médecine, il devra prendre son service on provinee.
1) obtenait 2) obticndra 3) obticndrait 4) aura obtenu
109- Le printemps est -———-——- saison de 'année.
1) la meilleurce 2} le meilleur 3) meilleure 4) meilleur
110- Lcs allocations -—-—-—- par le gouvernement.
1) attribuent 2) ont attribué
3) sont attribués 4y ont €té attribuces
111- Nons avoens travaillé dar -------- — tout 1'été.
1) pendant 2} depuis Nilya 4) ¢n
112- Si tn me donnais de meilleurs conseils au lieu de critiquer, ¢a m' ----—-—--—- beaucoup.
1) aidait 2)aaidé 3) aiderait 4} aidera
113- Maxime est condamné i 10 ans de prison ——--—- — avoir tiré sur son beau-pére.
1) d' 2ya 3) par 4) pour
114- Pierre a demandé & Marie -~———- elle reviendrait de son voyage le lendemain.
1) si 2) que 3) qui 4) quand
115- Le Renault 5 consomme -—-—-—- le Peugeot 206.
1) aussi 2) autant que 3) autant de 4) moins de
116- Flle n'a pas rencontré un Espagnol? ——— , et elle a émigré i Madrid par la suite.
1) Si 2)Oui 3) Mais oul 4) Bien slr que oui
117- 11 a trouvé un lit 4 I'hépital public -—-—--- son ami médecin.
1) car 2) malgré 3) griace a 4) parce que
118- Dis, tu me feras essayer ia nouvelle voiture? D'accord, je —----- — ferai essayer.
) tele ytela 3 lalui 4) le lui
119- Regardez ces jonrnaux; -----—--- préférez-vous?
1) quels 2} lesquelles 3y lequel 43 laquelle
12()- J¢ ne voyagerai —-—-—--— jamais avee luoi,
1) m 2) pas 3 plus 4) personne
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131-
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133-

134-
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137-

Partie B: Vocabulaire
Complétez les phrases suivantes en cochant la réponse correcte:

La résidence d'un chef d'état, d'un roi est --———- —.

1) une villa 2)un chalet 3) un palais 4) un pavillon

-------- — est gratuite pour que tous les bébés re¢oivent une pretection contre les maladies,

1) Le soin 2) La guérison 3) Le traitement 4) La vaccination

Les yeux-—--—-- des Chinois seraient une adaptation du corps humain au climat.

1) bridés 2) gonflés 3) pochés 4) exorbités

C'est un adolescent qui range toujours ses aftfaires, il est --—--—-- ce qui est étonnant pour
son dge.

1) distrait 2) agressit 3) modeste 4) ordonne

Lorsque je prends la route pour un long trajet, je dois vérifier la pression des -——-——- R

1) roues 2) penus 3) freins 4) batteries

Le travail domestique cst aujourd'hui facilité par les apparcils -=-----—- .

1) ménagéres 2) ¢lectriques

3) domestiques 43 Electro- ménagers

Le pain blanc a ¢té longtemps considéré comme le meilleur, i présent on revient au pain

________ qui e¢st naturel,

1) rassis 2) de scigle 3y complct 4} au chocolat

Pour menter soi- méme un meuble lkea, il faut suivre —------- .

1) 1a notice de montage 2) la recommandation

3) l'ordonnance 4) l¢ conscil

Un --———- — est un employé présent dans un hitel de jour comme de nuit.

1) gérant 2) hotelier 3) restauratenr 4) réceptionniste

En raison de la pandémie de Covid=19, les jeux olympignes Sont =——e—-- d'un an.

1) laisses 2) annulés 3) repories 4y abandonnés
Ona-——-- — le député au premier tour, cela a surpris tout le monde.

1) élu 2) surpris 3) soutenu 4) abouti

Cet outil est trés --———- — cela me permet de travailler facilement.

2) complexe 2) maniable: 3) compliqué 4) embarrassant

Sil' on ne prépare pas bien I'enfant aux premiéres séparations, il deviendra -—------ par la
suite.

1) avare 2) brave 3) peureux 4) insomniaque

Il n'y avait plus de place dans I'avion, un couple avait cédé avec -—-—-——- leurs places 4 la
meére et son enfant.

1) respect 2) politesse 3) cordialité 4} gentillesse

Le magasin ou se fait la vente des médicaments est une -—-—-- .

1) pharmacie 2) patisserie 3) mercerie 4} épicerie

Vous avez été -—-—-—-—-— de ne pas vous aventurer dans ce pays.

1) sage 2) irraisonnable 3) irresponsable 4) imprudent

Pour pouvaeir faire les commandes, il a pris des employés -—---—--- — afin d'aider son
personnel.

1) temporels 2} temporaires 3) éphémeres 4) intemporels

Pendant le confinement de nombreux éléves n'ayvant pas ————— 4 la maison ont du mal &
suivre les devoirs donnés par leurs professeurs,

1) de portable 2) d'ordinateur

3) de dictionnaire 4) de livres scolaires
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Si I'on désire louer ou acheter une maison on s'adressera & une agence —---—--—- .

1) professionnelle  2) de construction  3) immobiliére 4) publicitaire
Ma tante Surzanne, la seeur de ma grand- mére est notre —---—-- .

2) belle- sceur 2) tante 3) belle- fille 4} grand- tante

Partic C: misc co ordre des mots
Placez les éléments suivants dans un ordre correct:

patiente- le- I'avion- dans- de- parachutiste- avant- sauter
1) Dans 'avion le parachutiste patiente avant de sauter.
2) Le parachutiste patiente avant de sauter dans l'avion.
3) Avant de sauter, le parachutiste patiente dans |'avion.
4) Avant de santer dans l'avion le parachutiste patiente.
barbecue- été- en- facilement- faire- un- peut- on

1) En été on peut faire facilement un barbecue.

2) On peut faire facilement en été un barbecue.

3) On peut en éte faire facilement un barbecue.

4) Un barbecue on peut faire facilement en &té.
cuisiniére- prépare- la- repas- cantine- les- a-1a

1) A la cantine la cuisiniére prépare les repas.

2)La cuisiniére prépare les repas a la cantine.

3) La cuisiniére prépare 3 la cantine les repas.

4) Les repas la cuisiniére prépare a la cantine.

utilise- télécommandc- la- Pierrc- changer- chaine- de- pour
1) Picrre pour changer de chainge utilise la télécommande.
2) Pierre utilise pour changer de chaine la télécommande.
3) Pour changer de chalne Pigrre utilise la télécommande,
4) Pierre utilise la télécommande pour changer de chaine,
une- féte - grande- tous- les- de- I'école- enfants- réunit

1) Une grande féte tous les enfants réunit de 1'école.

2) Tous les enfants de |'école réunit une grande féte.

3) Une grande féte réunit tous les enfants de 1'école.

4) Les enfants de I'école tous réunit une grande fete.

Partic D: Conversations
Lisez les conversations et répondez aux questions:

Maric a lI'employé:

Maric: Ou est- ce qu'on peut prendre une douche?

L'employé: Les douches sont la- has madame!

Marie: Vous plaisantcz! La moitié des douches sont fermées. Je vais faire la quecuc
pendant une demi- heure en plein soleil!

Marie --—---—- contre les conditions de camping.

1) protesic 2} critique 3) s¢ plaint 4) ¢si enthousiasic
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La secrétaire: Entrez...Bonjour Madame.

Suzanne: Bonjour madame, je voudrais prendre un rendez-vous avec le docteur,

La secrétaire: Oui pour quand?

Suzanne: Heu demain si possible a4 17 h,

La secrétaire: Demain le docteur ne peut prendre de consultation. Mais mardi 17 h c'est

possible,

Swranne: Oui trés bien.

Suzanng --—--—-- Ie rendez-vous de mardi.

1) refuse 2y accepte 3) décline 4) rejette

A la piscine:

Le moniteur: Les enfants, arrétez de courir. Vous savez trés bien qu'il est dangereux de
courir au bord de la piscine, Alors ne courez pas?

Le meniteur -—-----—- aux enfants de courir 2 la piscine.

1) exclue 2) empéche 3) interdit 4) censure

Pierre i son professeur:

Pierre: je ne fais rien de bon en ¢e moment, Je m'ennuie {rop pendant les cours. Je vais
quitter le lycée.

I.e professeur: Avant de prendre ta décision, réflechis bien et parle avec tes parents.
Le professeur -———- A Pierre de réfléchir et de parler avec ses parents.

1) permet 2) suggére 3) propose 4) recommande

Les étudiants au doyen de 1'université:

Les plats servis 4 la faculté sont immangeables, la salle 3 manger est trop petite, le personnel
est sans respect envers les étudiants. Nous voulons que vous changiez cette situation.
Les étudiants -—------- un changement des conditions du restaurant universitaire.

1) ordonneni 2) réelament 3) demandent 4) commandent

Partic E: texte A compléter
Complétez le texte suivant a I'aide des réponses proposées:

Les jumcaux aitendent leur mére devant le collége.Colombe s'é¢lonne souvent qu'ils (151)
---------- partageé son ventre pendant sept mois, car ces deux 1 n'ont {152) ———---- de deux
fréres, encore moins d'une patre de jumeaux.

Picrre cst longiligne ¢t pdlc comme Colombe.Oscar, court ¢t mat dc peau, cst Ic

(153) ————m- craché de son pére. Plerre parle peu mais Oscar trop. Ils (154) --————--
souvent.

Parfois Colombe perd patience. Mais (155} --—-------- 4 son mari, elle parvient &
(156) -—-----—-- , et les {157) ~——---—- , les console, les ciline. Colombe (158) ---------- ses
tils et leur fait un petit signe. Pierre dépasse son frére d'une téte. C'est toujours lul qui
(159) ——mmmmmmm voit en premier. J'ai trouvé un appartement leur (160) ---------- - t- elle.
1) ont 2} aient 3) auront 4) avaient
1) rien 2) plus 3) jamais 4) personne
1) portrait 2) visage 3) physionomie 4} silhouette
1) se bataillent 2) se défendent. 3) s'attaquent 4) se disputent
1) contre 2) inversement 3) au contraire 4) contrairgment
1) réprimer 2) surmonter 3) se maitriser 4) se dompter
1) divorce 2) sépare 3) regarde 4) comprend
1) voit 2} regarde 3) apergoit 4y distingue
Iila 2y i 3)en 4yy
1) déclare 2) affirme 3) annonce 4) recommande
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Partic F: Compréhension de texte
Liscz les textes suivants ot répondez aux qucestions:

Texte 1:

Je m’appelle John, je suls américain. Avec mon amie Jenny, nous passons une semaine
de vacances & Pans. Comme je suis architecte, je veux profiter de notre séjour pour
visiter le chiteau de Versailles.

Quand nous arrivons au chilcau, il y a bcaucoup dc tourisics ¢l nous devons prendre
un billet pour entrer, Je suis impressionné, l¢ chiteau cst trés grand, il v a plus dc 2300
picces | 11 a ét€ construit au XVIle si¢cle par 1 roi1 de France Lowms X1V,

Nous passons dans la galetie des glaces, un couloir trés long ot entiérement rempli
de miroirs. Jenny veut voir la chambre de 1a reine et la salle 2 manger. Il y a beaucoup de
tableaux des persennes qui vivaient dans le chiteau a 1’époque de 1a monarchie.

Ensuite, nous sortons du chiteau pour visiter les jardins. Nous nous reposons prés
d’une grande fontaine. Jenny prend des photos des statues.

Le soleil va se coucher, nous devons quitter le chiteau. J'ai beaucoup aimé cette
visite, "espére que nous reviendrons.

Avce qui John visite-t-il Ic chitcan de Versailles?

1) sa sacur 2) 5Cs parents

3) sons amie 4) personne, il est seul

Comment est le chitean?

1) petit 2) recent 3) beau 4) grand
Quand lc chitcan a-t-il {té construit?

1) au XVIIc sidcle 2) au XXl sicele

3) on ng sait pas 4y au X¢ siccle

Jenny prend des photos.

1) du chéican 2) des statues 3) de scs amis 4) des leurs

Est-ce que John a aimé lu visite de Versailles?
1) Non, mais Jermy a beaucoup aimé la visite
2) Oui beaucoup, il veut rgvenir

3) Non pas du tout

4) Oui un peu
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Texte 2:
Avec les prévisions meteo, on peut savoir quel temps il fera le soir, le lendemain ou dans
la semaine. Quand il v a un grand soleil sur la carte, il fera chaud sur la région.

Quand la météo indique un soleil avec des nuages, il y aura peu de soleil et il y aura
souvent du vent. Le temps sera gris. 5’1l y a des nuages avec de la pluie sur la carte, c’est
qu’il va pleuvoir et qu’il v a des risques de tempéte ou de gréle. Si de la pluie tombe
alors qu’il v a du soleil, vous pourrez sans doute observer un arc-en-ciel.

Quand il y a des nuages avee de la neige qui lombe, ¢’cst qu’il va neiger oL qu’il powt
y avoir du brouillard, des risques de congélation, dc Ta glace ¢t que Ta température.sera
trés basse. Lorsqu’il v a un &clair avee des nuages ot de la pluie, il risque d’y avoir de la
foudre et du tonnerre.

Quelles conditions météo doivent étre réunies pour gue se forme un arc-en-ciel?

1) De la neige et de la foudre. 2) De la glace et des nuages.

3) De la gréle et du vent. 4) Du soleil et de la pluie

I1 fera chaud sur la région si la météo indique:

1) Du vent 2%y D soleil 3) De la pluie 4) De la neige
Des nuages seuls sur la carte météo signifient:

1) qu’il fera chaud 2) qu’il y aura de la glace

3) qu’il peut y avoir du vent 4) qu’il y a des risques de tempéte
Les risques de foudre on de tonnerre sont représentés par:

1) un soleil

2) un soleil avec des nuages

3) des nuages avec de la neige

4) des nuages avec de la pluie et un éclair

Il risque de faire froid quand Ia météo indique;

1) des nuages avec de la neige 2) des nuages avec de la pluie
3) des nuages 4y un seleil
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Teil A: Grammatik

Kinder, bald kommt Oma. Habt ihr ---e-veee- Zimmer aufgeriumt?

1) ever 2) eueres 3) eueren 4) euerer
---------- ich in Heidelberg angekommen war, rief ich meinen Vater an.

1) Falls 2) Wie lange 3) Damit 4) Nachdem

Sie dirgerte sich sehr ~»eeveeees , dass die Leute sie fiir abergliiubig und dumm hielten.
1) dafiir 2) davon 3) darauf 4) dartiber

---wa=en== hat verraten, dass ich morgen meine Frau iiberraschen will? — Ich glaube, es war
Berta.

1) Wo 2) Wer 3) Was 4) Wie

In welchem Kasus steht die Priip osition im Satz , Anstelle der Sekretiirin éffnete ihr Chef
die Tiir«?

1) Dativ 2) Genitiv 3) Akkusativ 4y Nominativ

Georg war den ganzen Tag mit mir unterwegs. Er --------- also unméglich am Tatort
gewesen sein,

1) mag 2) darf 3) kann 4y muss

In welchem Tempus steht der Satz , Wir haben den Plan noch einmal fiberpriift“?

1) Futur 1 2) Prisens 3) Perfekt 4y Pridteritum
Welche Bedeutung hat das Modalverb im Satz ,,Lisa darfnicht das Fenster 6ffnen*?
1) Verbot 2) Absicht 3) Fihigkeit 4) Moglichkeit
Unserr ————- Nachbar konnte wegen unserer Banarbeiten nachts kein Auge mmachen.
1) arme 2) armes 3) armer 4y armen

Herr Baumann begriiBite die Giiste und ---------- {bitten) sie, Platz zu nehmen.

1) bat 2) bot 3) bietet 4) bittet

Teil B: Vokabeln

Ich weiB nicht, warum du Pjotr nicht ~-=-meenee kannst. Mir gegeniiber hat er sich immer
sehr freundlich verhalten.

1) leiden 2) drgern 3) tadeln 4) tduschen

Wie kann man nicht auftreten?

1) niedrig 2) bescheiden 3) vorsichtig 4) selbstsicher

Der Lehrer merkte, dass Tobias beim —--veve--- zwei Wirter ausgelassen hatte.

1) Sturz 2) Termin 3) Diktat 4) Angeln

Das ist keine gute Idee, deine Arbeit —————— . Wie willst du dann deine Familie erniihren?
1) zu machen 2) zu kiindigen 3) fortzusetzen 4) zu beginnen

Mit dem Fahrrad kann ich nichts anfangen. Der Fahrradlenker ist -----uveee- .

1) neu 2) defekt 3) umsonst 4y steverbar
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Teil C: Liickentest
Erginzen Sie den Text mit den richtigen Auswahlmoglichkeiten!

Es (91) -----numm einmal ein Kaufmann. Eines Tages packte er seine Waren fiir eine weite
Reise (92) -wemmemem- ferne Linder zusammen. Als er sich von seinen Dienern
verabschiedete, (93) ~--------- ,er: . Ich will euch allen aus dem Morgenland ein Geschenk
mitbringen. (94) ---------- aber sollt mir mein Haus hiiten.” Jeder durfte einen (95) --------
aussprechen.

1) gab 2) kam 3) ging 4) lebte

1) in 2) auf 3) an 4y nach

1) antwortete 2) glaubte 3) schrieb 4) sprach

Iy Du 2) Er 3) Sie 4y Ihr

1) Plan 2) Befehl 3) Namen 4y Wunsch

Teil D: Leseverstehen

Jedes Jahr am 8. Mirz veranstalten Frauen auf der ganzen Welt den Weltfrauentag. Seit
mehr als 100 Jahren fordern sie an diesem Tag Gleichberechtigung. Damit ist gemeint,
dass Frauen und Minner vor dem Gesetz und in der Gesellschaft gleichwertig behandelt
werden sollen. Das erste Mal gab es den Weltfrauentag im Jahr 1911.

Deutschland, Dinemark, Osterreich-Ungarn und die Schweiz waren von Anfang an
dabei. Damals durften Fraven in den meisten Lindern der Welt noch nicht wiihlen. Die
Hauptforderung am ersten Weltfrauentag war deshalb auch das Frauenwahlrecht. In
Deutschland wurde es 1918 beschlossen. Heutzutage geht es um andere Themen:
Beispielsweise machen Frauen darauf aufmerksam, dass sie weniger verdienen als
Minner und hiufiger Gewalt erleben.

Was durften die deutschen Frauen laut Text bis 1918 nicht?

1) Arbeiten 2) Wiihlen

3) Zur Schule gehen 4) Sich scheiden lassen

In welchem Monat finden die jéihrlichen Veranstaltungen zum Weltfrauentag statt?

1) Mai 2) Januar 3) Miirz 4y Oktober

Uber welche Forderung der Frauen findet sich im Text kein Hinweis? Forderung nach
1) mehr Lohn 2) Chancengleichheit

3) Scheidungsrecht 4) Verzicht auf Gewalt

Seit wann gibt es den Weltfranentag? Seit «--v-u-ue- .

1) 1918 2) 19. Jahrhundert

3) iiber 100 Jahren 4) einem Jahrzehnt

Welches Land wird nicht im Text zu den Liindern gezihlt, die von Beginn an den
Weltfrauentag feierten?
1) Danemark 2) Niederlande 3) Deutschland 4y Die Schweiz

forum.konkur.in



www.konkur.in

A PET W 672-D (ogae)dmil 8 ylsj

76-

77-

78-

79-

80-

81-

82-

83-

84-

86-

87-

88-

90-

Partie A: Grammaire

Complétez les phrases suivantes en cochant la réponse correcte:

Ce guide indigue toutes les stations ----=a-=-- métro de la ville.

1 le 2) de 3) du 43 un

Les spaghettis sont des spécialités ~--------- .

1) italien 2) italiens 3) italienne 4) italiennes
Mes parents ont acheté I'appartement =e--veu--- ils révaient depuis longtemps.
1) ot 2) que 3) qui 4) dont
Nous allons au Portugal -=eeeeeue été pour les grandes vacances,

1) cet 2)ce 3) ces 4) cette
Quand j'étais enfant, je ~-=eeaneae I'école,

1) déteste 2) détestais 3) détesterais 4) détesterai
Je suis heureux que vous ---------- cet outil.

1) aurez utilisé 2) avez utilisé 3) utilisiez 4y utilisez
Nous réserverons une chambre d'hétel quand nous ----=----- la date du départ.
1) choisirons 2) choisissons

3) avons choisi 4y aurons choisi

S'il commencait a pleuvoir, nous ---===--- a la maison.

1) rentrerions 2) serons remrés 3) rentrerons 4) rentrons
Les chambres ---------- par un robot aux désinfectants.

1) ont été nettoyées 2) avaient nettoyé

3) nettoient 4) ont nettoyé

Nous habitons une vieille maison de campagne «=-=vuaae- trois mois.

1) dans ilya 3) depuis 4) pendant

Partie B: Vocabulaire:

Complétez les phrases suivantes en cochant la réponse correcte:

une chambre aménagée sous le toit est -=-wm-ne-- .

1) un foyer 2) un pavillon

3) une mansarde 4y un immeuble

Les wnmmnemens sont utiles pour combattre les maladies contagieuses chez les hébés.

1) soins 2) vaccins 3) guérisons 4) traitements

Les yeux ————- sont une caractéristique génétique chez les personnes d'origine asiatique.
1) bridés 2) pochés 3) exorbités 4) gonflés

Son employé est quelqu'un qui ne cherche pas a se mettre en valeur: c'est un homme
1) culavé 2) arrogant 3) modeste 4y actif

Le pharmacien n'arrive pas a lire I'écriture ---------- de son médecin.

1) 1llisible 2) nuisible

3) invisible 4) incompréhensible

Partie C: Texte a Compléter:

La bibliotheque couvrait les murs d'une vaste piece sans fenétre. (91) -------- contenait
un si grand nombre d'étageres qu'l fallait une échelle. Les romans étaient a coté des
dictionnaires sans aucun classement. Les classiques étaient au milieu d'ouvrages d'art et

de sciences. (92) -----m-m-- avoir la main heureuse, on devait pouvoilr trouver ce gu'on
(93) ——-memeee cherchait.
Sara considéra avec curiosité un bureau en bois (94) ------—-- les pieds (95) ----u-mn-

en griffes de lion.
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91- 1) Pour 2) Elle 3) En 4H 1l
92- 1Si 2) Pour 3) Méme si 4y A condition d'
93- Dy 2)en 3)le 4 1ui
94- 1) ou 2) que 3) dont 4) qui
95- 1) se terminent 2) se termineront
3) se terminaient 4) se sont terminés

96-

99-

100-

Partie D: Compréhension de Texte:
Lisez le texte suivant et répondez aux questions:

Les métiers
Je m'appelle Camille et quand j'étais enfant, j'avais des réves plein la téte. Je voulais étre
professeur et enseigner les mathématiques. Puis, je voulais devenir docteur pour soigner
les malades. Pour moi, les médecins et les infirmieres sont des héros sans costume.

Mon ami Thomas révait d'étre cuisinier. C'est parce qu'il n'aimait pas les plats de la
cantine. Il pensait qu'un chef pouvait manger des pizzas et des frites tous les jours.
Puis, plus grand, je découvrais les métiers de policier et d'avocat dans un film. Je me
disais alors que je voulais aussi combattre pour la justice. Je voulais poursuivre les
criminels et défendre les gentils. Mais le monde ne fonctionne pas toujours ainsi.

Adolescent, je voulais devenir pompier. Mes parents m’encourageaient a devenir
sapeur-pompier volontaire pour voir si cette carriere était réellement pour moi. J'étais
donc lycéen et pompier a la fois. J'étais fier!

Mais ma plus grande passion, c'est l'art. Et aujourd'hui, je suis artiste. Je peins des
tableaux dans mon studio.

Mon ami Thomas, lui, est dentiste. Pourtant, quand on était petits, il détestait aller
chez le dentiste. Il pleurait a chaque fois.

Que voulait faire Camille dans son enfance?

1) Apprendre I'anglais 2) Enseigner le francais

3) Apprendre la biologie 4) Enseigner les mathématiques
Que faisait-il pendant son adolescence?

1) 1l était secouriste pendant les vacances

2) 1l était pompier occasionnellement

3) 11 était chanteur

4) 11 était pianiste

Quels métiers de justicier Camille voulait-il exercer?

1) Policier et juge 2) Policier et avocat

3) Gendarme et juge 4) Gendarme et avocat
Qu'est-il devenu aujourd'hui?

1) Danseur 2) Photographe

3) Dessinateur 4) Artiste peintre

Qu'est-ce que Thomas voulait-il faire et que fait-il maintenant?

1) Cuisiner et dentiste 2) Serveur et chirurgien

3) Restaurateur et médecin 4) Agriculteur et psychologue

forum.konkur.in



www.konkur.in

A. BeiGepure npaBIILHLIN BAPUAHT OTBETA:

76~ AJ’[BRCHH}.IP X0 €T »~mwmmewws HIBEEIE CTHXH H EBICTYHHTE HA KOHIEPTE,

1) 3aHHMATLCA 2) VUHTBCA 3) BHIYIHTh 4) H3YUuT
77- B gercTBe MBI 00 MEYTAIH CTATE »+=srreswn,

1) Bpauam 2) BpauaMu 3) Bpaueii 4) BpauH
78- BeqepoM K HAM ~~rr=reese TOCTH.

1) npomun 2) BBINUIH 3) nepenun 4) NPHIUIA
79-  YTpoM fl BCTP €1ATA HOAPYTY reewmoeree BOKS AJTE.

1) Ha AN Iy 4B
80- CrTyZeHTHI HOYIHIIH »=ereseere GHIETHI DECHIIATHO.

1} BXOJTHBIX 2) BXOJHBIMH 3) BXOIHBIC 4) BXOJHBIM
81- OH X09eT HOIHAKOMHTE CHA ¢ MOHMH APYIBAMH, ~=r-=- JKHBYT B MoCKBe,

1) KOTOpLIX 2) KOTOpBIE 3) C KOTOpPBIM 4) 0 KOTOPBIX
82- M uerHAIO, ~rrmremee= OH oOeIATI CHIATE.

1) uto 2) ueM 3) K uemy 4) o uem
83~ TIlouemy HA CTOIE TONMLKO TPH =rrrmmmwns,

1) Tapenka 2) Tapenok 3) Tapenkax 4) Tapenku
84- Ilaro0usel oTel NP HIIACH TONBKQ -~=r=r-==- .

1) GNH3KHE POACTREHHHKH 2) GNM3KHM POACTBEHHHKAM

3) OMM3KNX pOJICTBEHHHKOR 4) ¢ OIH3KHMH POJCTBCHHHKAMH
35*“ Beccunne ecTh éﬂHHtTBEHHHﬁ HeJCTATOK, ~~==mr==== HEBOIMOKHC HCIP ABHTE.

1) koTopoe 2) KOTOpBI 3) KoToporo 4) KOTOpBIM
86~  sweeenecor KTO-TO CTOHT H PATOBAP HBACT.

1y ITocnemHHui 3Tax 2} B mociaegHHi 3Tax

3) Ha mocleaHeM 3Taxke 4) Ha nocineaHui sTax
87~ IInHA HPHETET BMECTE onrmwmsnn,

1) ¢ cecTpamu 2) K cecTpam 3) cecTphl 4) cecTpax
88~ V mero G0JHT roJI0Ba, BeMep oM OH HOHIET w=omwomnme,

1) y Bpaua 2) K Bpauy 3) c BpauoM 4) ppaua
89. erecomeer CECTPE HBETHI H KO H$ €TEL TOCTH HOILIH T'Y/IAT.

1) TTogapuBee 2) TTomapuBias 3) ITogapue mMx 4) TTomapie
-  3arpaHHOY paipelIAeTCH EBIBOZHTE TOIBKO BOJIOTY, ~~~==--~~ B TAMOKHE,

1) 3aperucTpHPOBAHHOE 2) 3apericTpHpPORAHHASL

3) 3aperucTpUpPOBAHH VIO 4) 3apErHCTPHPOBAHHBIH

E. HDHGJIHHTE TERCT, HCITOAB3Y A TIOAXOIHITCE 110 CMBICTY CI0OBO.

AHJIEPCEH - THCATEND, KOTOPOTO (91) --meemmem- B3POCHBIE H JIETH (92) ----vvmmmm MHpA.
AHpepceH mucan ckaskH. OH OJUH H3 HEMHOTHX mHcATeNel (93) --emvemw- JTHTEPATYPHI,
KOTOPBH CYMEN (94) ---mnmveme CBOH MBIC/IH, CBOE OTHOIMEHHE (95) -=mmmmmmen AKH3HH HE B

paccrKazax, HE B pOMAHaX, a B CKa3ke.
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91- 1) moouT 2) nwoaT 3) m06HTL 4) mooum

92- 1) BCero 2) BCA 3) Bcwo 4) Bech

93- 1) MupoBad 2) MHpPOBOTO 3) MIpOBbIE 4) MHpPOBOI

94- 1) BrIpazute 2) BrIpazuM 3) BBIpa3HTh 4) BpIpazuT

95- 1)ma 2y e 4 K

97-

100-

B. IIpouuT aiiTe TEKCT U BBINOTHUTE 3aJaHHUA IT0C.JTE HETO:

- ITpueet, 31! A Buepa BCIIOMHHA O TeSE.

- OueHb npuATHO! A moyemy BIPYT?

- CMOTpeI 1o TeneBu3opy nepepaqy «Kinys myTenecTEeHHHKOBY, TAM PACcCKa3biBaI 00
AHTIHH, TOKA3LBAIH JIOHOOH.

- M xax Te6e moHpaBHIcd Mo pogHoil ropon?

- JlonpoH - npexpacHbIil ropoa. MHe oueHb 3aX0TENOCh MOEXATh TYAA H YBHAETH BCE
CBOHMH rnasaMH. Mue poo0mig HpaBATCA Nepelavl o PYIHX CTPAHAX H ropojax.

- Ter 3Haems, MBaH, a 4, yecTHO ToBOpdA, GoJblie JAOOMK0 CaM €30UTh IO pPa3HbIM
CTpaHam, H B Poccli yike 0bL1 BO MHOTHX TOpOZax.

- A B KAKHMX ropogax Tel 65117

- S G6pu1 Bo Brmagumupe H Hosropoge. A emg A 6bin1 B CHOHpH, HA 03epe baikan.
Teneps A Xouy Mmoexarh Ha JanpHii BocTok.

- Thl TaK MHOTO NIYTEMIECTBYEIIb, ¥ Te0H, HABEPHOE, COBCEM HET BPEMEHH CMOTPETH
TENEBH30P.

- Ja, A penko cMOTPIo TENEBH30p. Y MeHA, JeHCTBHTENBHO, MAJIo CBOOOJHOTO BpeMeHH. B
OCHOBHOM $I CMOTPI) MY3bIKAIILHBIE MPOTPAMMbL, 4 [0 BOCKPECEHBAM - CIIOPTHBHbIE
nepenaqn.

- A HoBocTH? Tebe X TOXKE HYHHO CMOTPETH, UTOOBI 3HATH 0 COGBITHAX B MHPE. ..

- Ja, xoHeuHo. MHe oueHEb Nofe3Ho cnymarsk «HoBOCTH?. DT0 MOMOTAeT MHE H3YUATh
PYCCKHIT A3BIK.

HeaH 60,15 1€ BCero JE0OHT CMOTPETh ~~w=nmmens,

1) nHpOpPMALIHOHHEIE MPOrPAMMEI 2) MY3BIKATLHBIE TPOTPAMMEI

3) mepeauH o MYTEIIECTB HAX 4) CIOPTHBHBIE MTEPEAAYH

Hean xXouer HOLXATE B mHII?)HI[II?)I—[, HOTOMY YTD =mwomommen,

1) Tam KHUBET J[3H 2) 3TO NMpPEKPACHBIH TOpo]

3) oH MOOHTH MYTELIECTBOBATD 4) OH X04eT YUHTE AHTTHICKHH 5 3b1K
JH MOGHT ~-mmmmenem,

1} CMOTPETH TENEBH3OP 2) 3aHHMAThLCA CIIOPTOM

3) VUHT PYCCKHIT A3BIK 4) NYTEMECTBOBATE

HeaH coreryeT JaHY wmermwmmm.,

1) yuuTh pycCKHE A3BIK 2) ImoexaTk Ha 03epo balikan

3) CMOTPETH TENEBH3HOHHEIE HOBOCTH 4) mo0obIIe MYTENIECTBOBATD

,3_-[31-[ CHIHTAET, ITO TETEHOBEOCTH HOMOTAIT MY =erweememe,

1) 3HAKOMHTLCA ¢ TopogaMu PoccHi 2) IOHHMATH MEPENAYH O NYTEMECTBHAX
3) Y3HaBaThL 0 COOBITHAX B MHpE 4) H3y4aTh PYCCKHI A3BIK
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Capitolo A: Indicate la risposta corretta:

Maria studia ---------- primo anno di liceo.

1) al 2) nel 3) del 4y dal
Damasco e Dacca Sono ---=-=v-- Asia.

1) a 2)in 3) all 4y nella

Noti siamo stati --=--=---- fare la spesa.

1) a 2) di 3)in 4) per

=-==-eeee= 35 anni viviamo qui.

1) Fino 2) Con 3) Per 4) Da

Luogo di sosta di un treno attrezzato con vari servizi € —--=-----,

1) centro 2) piazza 3) stazione 4y strada

Il documento ufficiale che ci consente di guidare 'automobile ¢ ---=------,

1) quadro 2) document 3) patente 4) quaderno
Clara non viene con noi. Non ---------- interessa viaggiare.

) la 2) le 3) lo 4) gli

Quando vedo un serpente -e---veen- subito,

1) mi spavento 2) si spaventa 3) spavento 4) lo spavento
Mi rallegro che tu -----eevne bene.

1) sto 2) sta 3) sti 4y stia

La mamma dice a Claretta che ---------- a letto.

1) sta 2) sti 3) stia 4 stare

Noi mangiamo prima che tu ---------,

1) studi 2) studa 3) studia 4) studiate
Dario e Alessandra non -----es--- partire per la Pioggia.

1) hanno potuto 2) sono potuti 3) sono potuto 4) hanno potuti
Grazia, quando mi porti il mio libro? ~-----e--- restituisco domain.

1) Tila 2)Tela 3)Tilo 4y Te lo
Alessandro e --=------- intelligente --------- Adamo,

1) tanto-quanto 2) tanto- cosi 3) cosi-tanto 4) guanto-tanto
Se non avessi dovuto andare alla stazione per prendere mio padre ---------- con te.
1) verrei 2) verro® 3) sarel venuto 4y saresti venuto

Capitolo B: Completate il testo seguente con le parole proposte:

La mia casa & nel centro storico di Firenze, vicino (91) --=----an- Piazza Santa Croce. E’
un appartamento molto luminoso ed io vivo li con la mia fidanzata e i miei genitori. La
mia fidanzata ¢ brasiliana e la sua famiglia non vive (92) ---------- Italia. Lei studia

italiano e storia dell’arte ed ¢ molto brava. Abbiamo anche un gatto che si chiama Zorro
ed ¢ molto grasso. Il nostro gatto ¢ sempre in camera nostra, sdraiato sul letto
(93) ---emme- dormire per ore e ore. Accanto al nostro appartamento vivono i miei zii e
mio cugino che ha 2 anni meno di me. Siamo sempre stati molto (94) ------—--- fin da
bambini visto che viviamo vicino € abbiamo un’eta simile. Lui pero ha un carattere piu
chiuso come mia zia, mentre i0 sono una persona molto (95) ---------- , mia madre dice
che assomiglio a quel confusionario di mio nonno!
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Faxio 672-D (opae) gLl s
91- Da 2) di 3) da 4y con

92. I)a 2) in 3) nell’ 4yall’

93- |)con 2) su 3)in 4ya

94- 1) uniti 2) allegri 3) vivaci 4) simpatici

95- 1) aperta 2) allegra 3) vivace 4) dura

96-

97-

98-

99-

100-

Capitolo C: Leggete il testo e rispondete alle domande seguenti:

I-Quando era andata ad abitare nella casetta, la zia Alessandra era una giovane e
graziosa sposina, ma ben presto il sole e il vento avevano finito col trasformare anche lei.
Gli occhi avevano perduto ogni lucentezza, le labbra e le guance allora cosi rosee,
s’erano scolorite per assumere un colore grigio spento. Era diventata smunta e sparuta e
non sorrideva mai. Da quando la piccola Clara, rimasta orfana, le era stata affidata,
sussultava e si portava la mano al cuore ogni volta in cui la bambina usciva in uno dei
suoi scoppi d’allegria e anche ora, quando la sentiva ridere, si domandava stupita che
cosa potesse trovare di divertente la nipotina.

La zia Alessandra dove era andata a vivere?

1) In un palazzo 2) In un albergo

3) In una piccola casa 4} In una capanna

La sua faccia in generale ----------,

1) ha perduto la vivacita’ 2) e stata deformata

3) e” stata battuta 4) e stata perduta

Lei e stata ---------- .

1) grassata 2) dimagrita 3) grossata 4) cambiata
Lei era molto disoccupata perche’ la Piccola Clara ---------- .

1) era partita 2) si era allontanata

3) si era ammalata 4) aveva perduto 1 genitori

La zia si domandava quando la piccolina ---------- .

1) parlava 2) gridava

3) scoppiava 4) trovava qualcosa divertente
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